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 OEE-002  

CERTIFICATE OF COMPETENCY IN POWER 

DISTRIBUTION (CCPD) 

Term-End Examination 
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OEE-002 : POWER DISTRIBUTION  

SYSTEM – BASICS 

Time : 3 hours Maximum Marks : 70 

Note :  This paper has two sections  Section A and  

Section B. Both these sections are compulsory.  

SECTION A 

1. Fill in the blanks by choosing the correct 

answers from the choices given below : 151=15 

 (kWh, kW, current, temperature, frequency, power 

factor, insulation, conductor, porcelain, breaker, 

gases, moisture, vacuum, CT, rectifier, reactive) 

(i) ___________ switchgear requires less 

maintenance than oil insulated switchgear. 

(ii) ABT is ___________ dependent. 
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(iii) Quality of SF6 gas is checked by its 

___________ content. 

(iv) Isolators cannot be operated unless 

___________ is open. 

(v) Disc insulator is made of ___________ . 

(vi) Tong tester is used for measuring 

___________ . 

(vii) The bus bar should be able to carry expected 

maximum load current without exceeding 

___________ limit. 

(viii) Due to fault inside the transformer, 

___________ may be formed. 

(ix) One of the factors contributing to high 

technical loss in distribution system is low 

___________ .  

(x) ___________ transformer is used for battery 

charging. 

(xi) ___________  compensation is provided by 

shunt capacitors in a substation.  

(xii) Secondary output current of a ___________ 

may be 5A. 
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(xiii) Panther is the trade name of ___________ . 

(xiv) The unit of energy is ___________ . 

(xv) ___________ resistance is measured with the 

help of a Megger. 

2. Write True or False for the statements given 

below :  101=10 

(i) Multiplying factor of CT/PT can be a source 

of Revenue loss. 

(ii) Buchholz Relay is an oil operated relay. 

(iii) Isolator is operated at no load.   

(iv) Static meters are called electronic meters. 

(v) Control system of protection system is fed 

through AC system. 

(vi) No earth switch can be closed unless the 

corresponding isolator is in open position. 

(vii) Electricity is often generated at 11 kV by 

generators. 



OEE-002 4 

(viii) Rating of transformers is in kW. 

(ix) Preventive maintenance is done on failure of 

any equipment. 

(x) Oil acts as a coolant in transformers.  

3. Match the following given below in Column A 

with Column B : 51=5 

 Column A  Column B 

(a) Multiplying factor (i) Load current 

(b) Diversity factor (ii) Energy meter 

(c) Circuit breaker (iii) Fault 

(d) Relay (iv) Insulator 

(e) Polymer (v) Load 
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SECTION B 

Answer any eight (8) questions from the  

following : 85=40 

4. List the tests that  are carried  out for a 

transformer. 

5. Describe a Ring Main System. 

6. What is the difference between Power Cable 

and Control Cable ? 

7. Write a brief note on Hot Line Maintenance. 

8. What are the advantages of HVDC ? 

9. Why is DC system required in a substation ? 

How is it supplied there ? 

10. What are the advantages of Cable 

transmission with respect to Overhead Lines ? 

11. How does higher voltage reduce electric power 

losses ? 

12. Why is reactive compensation needed in 

distribution system ? How is it provided ? 
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13. What do you understand by transmission  

grid ? 

14. What do you mean by a trivector meter ? 

15. What are the advantages and disadvantages 

of radial feeders ? 
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 Amo.B©.B©.-002  

 {dÚwV² {dVaU _| gj_Vm à_mU-nÌ 

(gr.gr.nr.S>r.) 

gÌm§V narjm 

{Xgå~a, 2021 

Amo.B©.B©.-002 : {dÚwV² {dVaU àUmbr – _yb {gÕm§V 

g_` : 3 KÊQ>o  A{YH$V_ A§H$ : 70 

ZmoQ> : Bg àíZ-nÌ _| Xmo ^mJ h¢ – ^mJ H$ Am¡a ^mJ I & `o XmoZm| 
^mJ A{Zdm`© h¢ & 

^mJ H$  

1. ZrMo {XE JE {dH$ënm| _| go ghr CÎma MwZVo hþE [aº$ ñWmZm| 

H$s ny{V© H$s{OE : 151=15 

 (kWh, kW, H$a§Q>, Vmn_mZ, Amd¥{Îm, e{º$ JwUm§H$, 

BÝgwboeZ, H$ÝS>ŠQ>a, nm°{g©boZ, ~«oH$a, J¡g|, Z_r, {Zdm©V 

(d¡Š` y_), gr.Q>r., aopŠQ>\$m`a, [aEopŠQ>d) 

(i) ___________ pñdM{J`a Ho$ {bE Am°̀ b BÝgwbo{Q>S> 

pñdM{J`a H$s VwbZm _| A{YH$ aIaImd H$s 

Amdí`H$Vm Zht hmoVr & 

(ii) E.~r.Q>r. ____________ Am{lV h¡ & 
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(iii) SF6 J¡g H$s JwUdÎmm H$s Om±M, BgH$s ___________ 

_mÌm go H$s OmVr h¡ & 

(iv) AmBgmoboQ>g© H$m n[aMmbZ g§^d Zht h¡, `{X 

___________ Iwbo Z hm| Vmo & 

(v) {S>ñH$ BÝgwboQ>a ___________ go ~Zm hmoVm h¡ & 

(vi) Q>m°ÝJ Q>oñQ>a H$m à`moJ ___________ _mnZo Ho$ {bE 

{H$`m OmVm h¡ & 

(vii) ~g ~ma H$mo ___________ gr_m H$mo ~‹T>mE {~Zm 

AZw_m{ZV A{YH$V_ bmoS> H$a§Q> H$mo CR>mZo Ho$ `mo½` 

hmoZm Mm{hE & 

(viii) Q´>mÝg\$m°_©a _| Xmof hmoZo go, __________ ~Z gH$Vr h¡ & 

(ix) {dVaU àUmbr _| Cƒ VH$ZrH$s j{V _| `moJXmZ XoZo 

dmbm EH$ H$maH$, {ZåZ ___________ h¡ & 

(x) ___________ Q´>mÝg\$m°_©a H$m à`moJ ~¡Q>ar Mm{OªJ Ho$ 

{bE {H$`m OmVm h¡ & 

(xi) g~ñQ>oeZ _| eÝQ> (shunt) H¡$noo{gQ>am| Ûmam ________ 

H$ånoÝgoeZ àXmZ {H$`m OmVm h¡ & 

(xii) ___________ H$m goH$ÊS>ar AmCQ>nwQ> H$a§Q> 5A hmo 

gH$Vm h¡ & 
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(xiii) n¡ÝWa ___________ H$m Q´>oS> Zm_ h¡ & 

(xiv) D$Om© H$s BH$mB© (`y{ZQ>)> ___________ h¡ & 

(xv) ___________ à{VamoY H$mo _oJa H$s ghm`Vm go _mnm 

OmVm h¡ & 

2. ZrMo {XE JE H$WZm| Ho$ {bE ghr  `m µJbV  {b{IE : 101=10 

(i) gr.Q>r./nr.Q>r. H$m JwUH$ H$maH$, amOñd j{V H$m EH$ 

òmoV hmo gH$Vm h¡ & 

(ii) ~wH$hmoëµO [abo, Vob n[aMm{bV [abo h¡ & 

(iii) AmBgmoboQ>a Zmo bmoS> na n[aMm{bV {H$`m OmVm h¡ & 

(iv) ñW¡{VH$ _rQ>am| H$mo BboŠQ>́m°{ZH$ _rQ>a H$hVo h¢ & 

(v) gwajm (protection) {gñQ>_ H$m H§$Q´>mob {gñQ>_, E.gr. 

{gñQ>_ go nyam {H$`m OmVm h¡ & 

(vi) {H$gr ^r AW© pñdM H$mo ~§X Zht {H$`m Om gH$Vm O~ 

VH$ {H$ Cggo g§~§{YV AmBgmoboQ>a Iwbr AdñWm _| Z 

hmo & 

(vii) OoZaoQ>am| Ûmam {~Obr AH$ga 11 Ho$.dr. (kV) na 

O{ZV H$s OmVr h¡ & 
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(viii) Q´>mÝg\$m°_©am| H$s aoqQ>J Ho$. S>ãë`y. (kW) _| H$s  

OmVr h¡ & 

(ix) gwajmË_H$ AZwajU {H$gr ^r CnH$aU Ho$ R>ßn n‹S> 

OmZo H$s pñW{V _| {H$`m OmVm h¡ & 

(x) Am°`b, Q>́m°Ýg\$m°_©a _| Hy$b|Q> H$m H$m_ H$aVm h¡ & 

3. ZrMo {XE JE H$m°b_ H$ H$m H$m°b_ I go {_bmZ  

H$s{OE : 51=5 

 H$m°b_ H$  H$m°b_ I 

(H$) JwUH$ H$maH$ (i) bmoS> H$a§Q> 

(I) {d{dYVm (Diversity) H$maH$ (ii) EZOu _rQ>a 

(J)  gH©$Q> ~«oH$a (iii) \$m°ëQ> 

(K)  [abo (iv) BÝgwboQ>a 

(L>) nm°{b_a (v) bmoS> 
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^mJ I 

{ZåZ{b{IV _| go {H$Ýht AmR> (8) àíZm| Ho$ CÎma Xr{OE : 85=40 

4. Q´>mÝg\$m°_©a Ho$ {bE H$m¡Z-go narjU {H$E OmVo h¢ ? gyMr 

~ZmBE & 

5. [a¨J _oZ {gñQ>_ H$m dU©Z H$s{OE & 

6. nmda Ho$~b Am¡a H§$Q́>mob Ho$~b _| Š`m A§Va h¡ ? 

7. hm°Q> bmBZ AZwajU na g§jon _| {Q>ßnUr {b{IE & 

8. EM.dr.S>r.gr. Ho$ Š`m bm^ h¢ ? 

9. g~ñQ>oeZ _| S>r.gr. {gñQ>_ H$s Amdí`H$Vm Š`m| n‹S>Vr h¡ ? 

dhm± BgH$s Amny{V© H¡$go H$s OmVr h¡ ? 

10. Amodah¡S> bmBZm| Ho$ g§~§Y _| Ho$~b Q´>mÝg{_eZ Ho$ Š`m \$m`Xo 

h¢ ? 

11. Cƒ dmoëQ>oO go d¡ÚwV e{º$ (nmda) j{V`m± H$_ H¡$go hmo 

OmVr h¢ ? 

12. {dVaU àUmbr _| [aEopŠQ>d H$ånoÝgoeZ H$s Amdí`H$Vm Š`m| 

n‹S>Vr h¡ ? `h H¡$go àXmZ {H$`m OmVm h¡ ?  
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13. Q´>mÝg{_eZ {J«S> go Amn Š`m g_PVo h¢ ? 

14. Q´>mBdoŠQ>a _rQ>a go Amn Š`m g_PVo h¢ ? 

15. ao{S>`b \$sS>g© Ho$ bm^ Ed§ Xmof Š`m h¢ ? 

 

 


